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QUANTITATIVE APTITUDE

Q.1
316cos 12cos

6 6

 
  = ______.

(1) 0 (2) 2
(3) 1 (4) -1

Q.2 Two equal circles of radius 8
cm intersect each other in
such a way that each passes
through the centre of the
other. The length of the

common chord is:/8 lseh f=kT;k
okys nks leku o`Ùk ,d nwljs dks bl
çdkj çfrPNsn djrs gSa fd çR;sd nwljs
ds dsaæ ls gksdj xqtjrk gSA mHk;fu"B
thok dh yackbZ gS%
(1) 8 3 cm/lseh

(2) 3 cm/lseh

(3) 2 3 cm/lseh

(4) 4 3 cm/lseh
Q.3 The table given below shows

the number of bicycle sold by

six companies./uhps nh xbZ rkfydk
Ng daifu;ksa }kjk csph xbZ lkbfdyksa dh
la[;k n'kkZrh gSA

Companies Bicycle

60A

90B

120C

165D

180E

120F

What are the ratio of number
of bicycle sold by B to the
number of bicycle sold by D?/

B }kjk csph xbZ lkbfdyksa dh la[;k dk
D }kjk csph xbZ lkbfdyksa dh la[;k ls
vuqikr fdruk gS\
(1) 11 : 5 (2) 11 : 6
(3) 5 : 13 (4) 6 : 11

Q.4 A chord of length 42 cm is
drawn in a circle having
diameter 58 cm. What is the
minimum distance of other
parallel chord of length 40 cm
in the same circle from 42 cm

long chord?/58 lseh O;kl okys ,d
òÙk esa 42 lseh yackbZ dh ,d thok •haph
tkrh gSA 42 lseh yach thok ls mlh o`Ùk
esa 40 lseh yackbZ dh vU; lekukarj
thok dh U;wure nwjh D;k gS\
(1) 4 cm/lseh (2) 1 cm/lseh
(3) 3 cm/lseh (4) 2 cm/lseh

Q.5 6 men and 8 women can do a
piece of work in 10 days,
whereas 26 men and 48
women can do the same work
in 2 days. What will be the
time taken by 15 men and 20
women to do the same

work?/6 iq#"k vkSj 8 efgyk,a ,d
dke dks 10 fnuksa esa dj ldrs gSa] tcfd
26 iq#"k vkSj 48 efgyk,a mlh dke dks
2 fnuksa esa dj ldrs gSaA 15 iq#"kksa vkSj 20
efgykvksa }kjk mlh dk;Z dks djus esa
fdruk le; yxsxk\
(1) 6 days/fnuksa (2) 10 days/fnuksa
(3) 4 days/fnuksa (4) 8 days/fnuksa

Q.6 The following table gives the
subscription of different
schemes of a Mutual Fund
Company over the months./

fuEufyf•r rkfydk eghuksa esa E;wpqvy
iQaM daiuh dh fofHkUu ;kstukvksa dh lnL;rk
nsrh gS

Months Schemes Total 

September 200 70 30 290 10 600 
October 120 130 70 150 290 760 
November 45 35 25 125 160 390 

December 160 110 40 115 130 555 
January 80 90 70 100 140 480 
February 130 150 30 40 390 740 

 

V       W      X       Y       Z

What is the difference in the
subscription of scheme X
between December and

February?/fnlacj vkSj iQjojh ds chp
Ldhe X ds lClfØI'ku esa fdruk varj gS\
(1) 10 crores (2) 18 crores
(3) 8 crores (4) 25 crores

Q.7 The value of
428 428 428 348 348 348

428 428 428 348 348 348

    

    

is:/dk eku gS\

2
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(1) 776 (2) 62080
(3) 80 (4) 40

Q.8 If the 5-digit number 750PQ is
divisible by 3, 7 and 11, then
what is the value of P + 2Q?/

;fn 5 vadksa dh la[;k 750PQ, 3, 7
vkSj 11 ls foHkkT; gS] rks P + 2Q dk
eku D;k gS\
(1) 17 (2) 15
(3) 18 (4) 16

Q.9 Raju, Ravi and Ashok
contested an election. 5%
votes polled were invalid. Raju
got 30% of the total votes. Ravi
got 32% of the total votes. The
winner got 5136 more votes
than the person who received
the least number of votes.
Find the total number of votes

polled./jktw] jfo vkSj v'kksd us ,d
pquko yM+kA Mkys x, 5» oksV voS/ FksA
jktw dks dqy erksa dk 30» çkIr gqvkA jfo
dks dqy oksVksa dk 32» oksV feysA fotsrk
dks lcls de er çkIr djus okys O;fÙkQ
ls 5136 vf/d er çkIr gq,A Mkys x,
erksa dh dqy la[;k Kkr dhft,A
(1) 171200 (2) 64200
(3) 171220 (4) 172100

Q.10 A horse was sold for
Rs.60,000 at a profit of 20%.
For what price should he have

sold to gain a 30% profit?/,d
?kksM+s dks 20» ds ykHk ij 60]000 #i;s
esa cspk x;kA 30» ykHk çkIr djus ds
fy, mls fdl ewY; ij cspuk pkfg, Fkk\
(1) Rs.64,000 (2) Rs.65,000
(3) Rs.50,000 (4) Rs.55,000

Q.11 If 
2 2 2 1024a b c

ab bc ca

  

 
 = -2 and

a + b = 5c, where  c > 0, then

the value of c is _____./;fn
2 2 2 1024a b c

ab bc ca

  

 
 = -2 vkSj a +

b = 5c] tgk¡ c > 0] rks c dk eku ____

gSA
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(1) 8 (2) 4
(3) 12 (4) 5

Q.12 The pie chart given below
shows the production of 6
different factories. The total
production of all these 6
factories are 22000. The
production of a particular
factory is shown as a percent
of total production of all these

6 factories./uhps fn;k x;k ikbZ pkVZ
6 vyx&vyx dkj•kuksa ds mRiknu dks
n'kkZrk gSA bu lHkh 6 dkj•kuksa dk dqy
mRiknu 22000 gSA fdlh fo'ks"k dkj•kus
dk mRiknu bu lHkh 6 dkj•kuksa ds dqy
mRiknu ds çfr'kr ds :i esa fn•k;k
x;k gSA

 F
10%  A

37%

 B
13%

 C
20%

 E
16%

 D
4%

P1 = The value of average
production of A, C, D and F./

P1 = A,C, D vkSj F ds vkSlr mRiknu
dk ewY;A
P2 = The difference between
the production of B and E./P2

= B vkSj E ds mRiknu ds chp dk
varjA
What is the value of (P1 +

P2)?/(P1 + P2) dk eku D;k gS\
(1) 2525 (2) 6545
(3) 3525 (4) 4565

Q.13 If p + q = 6 and pq = 4, then
what is the value of p3 + q3?/

p + q = 6 vkSj pq = 4 rks p3 + q3 dk
eku D;k gS\
(1) 81 (2) 64
(3) 144 (4) 256

Q.14 The ratio of two numbers is
5 : 4 and their HCF is 4. What

is their LCM?/nks la[;kvks a dk
vuqikr 5 : 4 gS vkSj mudk e-l-i- 4
gSA mudk y?kqÙke lekioR;Z D;k gS\
(1) 80 (2) 48
(3) 36 (4) 60

Q.15 If CosA = 
9

41
, find cot A./;fn

CosA = 
9

41
rks] cot A Kkr dhft,A

(1)
9

40
(2)

41

40

(3)
40

9
(4)

9

41
Q.16 A truck runs 492 km on 36

Litter of diesel. How many
kilometres can it run on 33

Litter of diesel?/,d Vªd 36 yhVj
Mhty ij 492 fdeh pyrk gSA 33 yhVj
Mhty ij ;g fdrus fdyksehVj py
ldrh gS\
(1) 454 km (2) 453 km
(3) 451 km (4) 452 km

Q.17 In the given triangle, CD is
the bisector of BCA. CD =
DA. If BDC = 76°, what is the

degree measure of CBD?/fn,
x, f=kHkqt esa] CD, BCA dk lef}Hkktd
gSA  CD = DA ;fn BDC = 76° gS]
rks CBD dk fMxzh eki D;k gS\

C

B AD

(1) 32° (2) 76°
(3) 80° (4) 66°

Q.18 A dealer buys an old cooler
listed at `650 and gets
successive discounts of 20%
and 10%. He spends ̀ 38 on its
repairs and sells it at a profit
of 20%. Find the selling price

of the cooler./,d Mhyj ̀ 650 ij
lwphc¼ ,d iqjkuk dwyj •jhnrk gS vkSj
20% vkSj 10% dh Øfed NwV çkIr
djrk gSA og bldh ejEer ij `38

•pZ djrk gS vkSj bls 20% ds ykHk ij
csprk gSA dwyj dk foØ; ewY; Kkr
dhft,A
(1) ` 7.80 (2) ` 700
(3) ` 790 (4) ` 607.2

Q.19 The pie chart given below
shows the sales of 7 different
companies. The total sales of
all these 7 companies are
2880. The sale of a particular
company is shown in terms
of degree with respect to the
total sales of all these 7

companies./uhps fn;k x;k ikbZ pkVZ
7 vyx&vyx daifu;ksa dh fcØh n'kkZrk
gSA bu lHkh 7daifu;ksa dh dqy fcØh 2880

gSA ,d fo'ks"k daiuh dh fcØh dks bu lHkh
7 daifu;ksa dh dqy fcØh ds laca/ esa fMxzh
ds :i esa fn•k;k x;k gSA

 J
34°

 D
17°

 E
119°

 F
51°

 H
73°

 G
13°

 I
53°

The average sales of G and H
is how much percent more
than the average sales of D
and I?/G vkSj H dh vkSlr fcØh] D
vkSj I dh vkSlr fcØh ls fdrus çfr'kr
vf/d gS\
(1) 18.86 percent
(2) 24.25 percent
(3) 56.21 percent
(4) 22.86 percent

Q.20 What is the edge of a cube
whose volume is equal to the
sum of the volumes of the cubes
of edge 6 cm, 8 cm and 10 cm?/
,d ?ku dk fdukjk D;k gS ftldk vk;ru
6 lseh] 8 lseh vkSj 10 lseh fdukjs okys
?kuksa ds vk;ru ds ;ksx ds cjkcj gS\
(1) 5 cm (2) 3 cm
(3) 6 cm (4) 12 cm

Q.21 If Ram covers a certain journey
at 60% of his usual speed, he
reaches the destination late by
36 min. His usual time (in
min) to reach the destination
is:/;fn jke viuh lkekU; xfr ds 60»
xfr ls ,d fuf'pr ;k=kk r; djrk gS]
rks og xarO; ij 36 feuV nsjh ls igqaprk
gSA xarO; rd igq¡pus ds fy, mldk
lkekU; le; (feuV esa) gS%
(1) 60 (2) 72
(3) 50 (4) 54

Q.22 If tan2 = 1 - a2, then the
value of sec + tan3 cosec
is:/;fn tan2 = 1 - a2 rks sec +

tan3 cosec dk eku gS%

(1)  
3

22 a (2)  
3

2 21a 

(3)  
3

2 22 a (4)
3

2a
Q.23 Two-thirds of a certain

distance was covered at the
speed of 45 km/h, one-fourth
at the speed of 60 km/h and
the rest at the speed of 75
km/h. Find the average
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speed per hour for the whole
journey. (correct to 2 decimal
places)/,d fuf'pr nwjh dk nks&frgkbZ
Hkkx 45 fdeh@?kaVk dh xfr ls] ,d&pkSFkkbZ
60 fdeh@?kaVk dh xfr ls vkSj 'ks"k 75
fdeh@?kaVk dh xfr ls r; fd;k tkrk gSA
iwjh ;k=kk ds fy, çfr ?kaVs dh vkSlr xfr
Kkr dhft,A (nks n'keyo LFkkuksa rd
lgh)
(1) 51.25 km/h
(2) 45.75 km/h
(3) 58.25 km/h
(4) 49.77 km/h

Q.24 The area of a triangle is 480
cm2 and the ratio of its sides is
10 : 24 : 26. What is the
perimeter of the triangle?/,d
f=kHkqt dk {ks=kiQy 480 lseh2 gS vkSj
bldh Hkqtkvksa dk vuqikr 10 % 24 % 26
gSA f=kHkqt dk ifjeki D;k gS\
(1) 120 cm (2) 30 cm
(3) 150 cm (4) 60 cm

Q.25 Damani purchased an item
costing Rs.7,500 and paid
Rs.3,500 as a down payment
for the same. If the simple
interest charged for the
remaining amount is 9% per
annum and Damani cleared
all dues after 4 months of the
purchase, how much did
Damani pay after 4 months as
interest?/nekuh us 7]500 #i;s dh
dher okyh ,d oLrq •jhnh vkSj mlds
fy, Mkmu isesaV ds :i esa 3]500 #i;s
dk Hkqxrku fd;kA ;fn 'ks"k jkf'k ds fy,
lk/kj.k C;kt 9» çfr o"kZ gS vkSj nekuh
us •jhn ds 4 eghus ckn lHkh ns; jkf'k dk
Hkqxrku dj fn;k] rks nekuh us 4 eghus ds
ckn C;kt ds :i esa fdruk Hkqxrku fd;k\
(1) Rs.120 (2) Rs.100
(3) Rs.132 (4) Rs.125

GENERAL AWARENESS
Q.1 The Asian Games 2018 were

held in which of the following
countries?/,f'k;kbZ •sy 2018
fuEufyf•r esa ls fdl ns'k esa vk;ksftr
fd, x, Fks\
(1) South Korea/nf{k.k dksfj;k
(2) Indonesia/baMksusf'k;k
(3) Japan/tkiku
(4) China/phu

Q.2 When is Raksha Bandhan
celebrated in India as per the
Hindu calendar?/fganw dSysaMj ds
vuqlkj Hkkjr esa j{kk ca/u dc euk;k
tkrk gS\

(1) Amavasya, Shravan
month/vekoL;k] Jko.k ekl
(2) Poornima, Ashadha
month/iwf.kZek] vk"kk<+ ekl
(3) Amavasya, Ashadha
month/vekoL;k] vk"kk<+ ekl
(4) Poornima, Shravan
month/iwf.kZek] Jko.k ekl

Q.3 Protection of life and liberty
is included under which
Article of the Constitution of
India?/Hkkjr ds lafo/ku ds fdl
vuqPNsn ds rgr thou vkSj Lora=krk dk
laj{k.k 'kkfey gS\
(1) Article 21/vuqPNsn 21

(2) Article 23/vuqPNsn 23

(3) Article 24/vuqPNsn 24

(4) Article 20/vuqPNsn 20
Q.4 Which of the following is NOT

the correct match?/fuEufyf•r
esa ls dkSu lk lgh esy ugha gS\
(1) The acid present in

tomato – Formic acid/VekVj
esa mifLFkr vEy & iQkfeZd vEy

(2) The acid present in
orange – citric acid/larjs esa
mifLFkr vEy& lkbfVªd vEy

(3) The acid present in grapes
– Tartaric acid/vax w j e s a
mifLFkr vEy & VkVZfjd vEy

(4) The acid present in rancid
butter – Butyric acid/cklh
eD•u esa mifLFkr vEy & C;wfVfjd
vEy

Q.5 The percentage of earth's
water found in the oceans is
____./egklkxjksa esa ik, tkus okys ìFoh
ds ty dk çfr'kr ___ gSA
(1) 94 percent/çfr'kr
(2) 97.2 percent/çfr'kr
(3) 90.2 percent/çfr'kr
(4) 92.2 percent/çfr'kr

Q.6 Decadal growth rate of
population between 2001-
2011 is ___./2001&2011 ds chp
tula[;k dh n'kdh; o`f¼ nj  ____gSA
(1) 18.70 percent/çfr'kr
(2) 15.70 percent/çfr'kr
(3) 17.70 percent/çfr'kr
(4) 16.70 percent/çfr'kr

Q.7 The Paramhans Mandali was
founded in 1840 at ______ to
work for the abolition of
caste./ijegal eaMyh dh LFkkiuk 1840
esa ______ esa tkfr ds mUewyu ds fy,
dke djus ds fy, dh xbZ FkhA

(1) Delhi/fnYyh
(2) Calcutta/dydÙkk
(3) Bombay/cacbZ
(4) Madras/eækl

Q.8 Who was the Mughal
emperor, when a massive
rebellion against british rule
broke out in 1857?/1857 esa tc
fczfV'k 'kklu ds fo#¼ fo'kky foæksg
gqvk] rc eqxy lezkV dkSu Fkk\@
(1) Farrukhsiyar/iQjQZ[kfl;j
(2) Bahadur Shah Zafar/cgknqj

'kkg tiQj
(3) Akbar II/vdcj f}rh;
(4) Aurangzeb/vkSjaxtsc

Q.9 The motion of ____ body is an
example of uniformly
accelerated motion./____ oLrq
dh xfr leku :i ls Rofjr xfr dk ,d
mnkgj.k gSA
(1) resting/foJke djuk
(2) Decelerating/xfr de djuk
(3) parabolic/ijoyf;d
(4) freely falling/Lora=k :i ls

fxjuk
Q.10 Gross primary deficit is the

difference between ____./
ldy çkFkfed ?kkVk ____ ds chp dk
varj gSA
(1) revenue deficit and

interest receipts/jktLo ?kkVk
vkSj C;kt çkfIr;k¡

(2) gross fiscal deficit and
interest receipts/ldy
jktdks"kh; ?kkVk vkSj C;kt çkfIr;k¡

(3) revenue deficit and
interest payments/jktLo
?kkVk vkSj C;kt Hkqxrku

(4) gross fiscal deficit and net
interest liabilities/ldy
jktdks"kh; ?kkVk vkSj 'kq¼ C;kt
nsunkfj;ka

Q.11 Which of the following folk
dances does NOT belong to
the state of Madhya
Pradesh?/fuEu yksd ùR;ksa esa ls dkSu
lk eè; çns'k jkT; ls lacaf/r ugha gS\
(1) Laho/ykgks
(2) Phulpati/iQwyifr
(3) Matki/eVdh
(4) Jawara/tokjk

Q.12 Which of the following
venues was decided to host
the 2022 Asian Games?/

fuEufyf•r esa ls fdl LFkku dks 2022
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,f'k;kbZ •syksa dh estckuh djus dk fu.kZ;
fy;k x;k Fkk\
(1) Hangzhou, China/gkaXtks ]

phu
(2) Guangzhou, China/Xokax>w]

phu
(3) Incheon, South Korea/

bafp;ksu] nf{k.k dksfj;k
(4) Jakarta, Indonesia/tdkrkZ]

baMksusf'k;k
Q.13 The Revolutionary Socialist

Party was established in

____./fjoksY;w'kujh ozQkafrdkjh lks'kfyLV
ikVhZ dh LFkkiuk ____ esa gqbZ FkhA
(1) 1936 (2) 1925
(3) 1940 (4) 1929

Q.14 Singers Sujatha and
Ananthu have been awarded
the Kalaimamani Award for
the year _____ by the Tamil

Nadu Government./xkf;dk
lqtkrk vkSj vuarq dks rfeyukMq ljdkj
}kjk ____ o"kZ ds dySeef.k iqjLdkj ls
lEekfur fd;k x;k gSA
(1) 2022 (2) 2019
(3) 2021 (4) 2020

Q.15 Which of the following element
is more reactive than

copper?/fuEufyf•r esa ls dkSu lk rRo
rkacs dh rqyuk esa vf/d çfrfØ;k'khy gS\
(1) Gold/lksuk
(2) Zinc/tLrk
(3) Silver/flYoj
(4) Platinum/IysfVue

Q.16 The New Delhi International
Arbitration Centre (Amendment)
Bill, 2022 was introduced in Lok

Sabha on ____./ubZ fnYyh varjkZ"Vªh;
eè;LFkrk dsaæ (la'kks/u) fo/s;d] 2022
dks yksdlHkk esa ____dks is'k fd;k x;k
FkkA
(1) June 8, 2022/twu
(2) October 7, 2022/vDVwcj
(3) September 6, 2022/flracj
(4) August 5, 2022/vxLr

Q.17 Who has been named as the
next chairperson of the
Securities and Exchange
Board of India in March

2022?/ekpZ 2022 esa Hkkjrh; çfrHkwfr
vkSj fofue; cksMZ ds vxys vè;{k ds
:i esa fdls ukfer fd;k x;k gS\
(1) Debasish Panda/nsck'kh"k ikaMk
(2) Madhabi Puri Buch/ek/oh

iqjh cqp

(3) T. Raja Kumar/Vh- jktk dqekj
(4) Ashwani Bhatia/v'ouh

HkkfV;k
Q.18 Mangubhai Chhaganbhai

Patel was appointed as the
Governor of ______ in July

2021./eaxwHkkbZ NxuHkkbZ iVsy dks tqykbZ
2021 esa ____ ds jkT;iky ds :i esa
fu;qÙkQ fd;k x;k FkkA
(1) Madhya Pradesh/eè; çns'k
(2) Himachal Pradesh/fgekpy

çns'k
(3) Uttar Pradesh/mÙkj çns'k
(4) Arunachal Pradesh/

v#.kkpy çns'k
Q.19 How much purse money was

given to a Sangeet Natak

Akademi fellow in 2019?/2019
esa laxhr ukVd vdkneh ds lkFkh dks
fdruk ilZ euh fn;k x;k\
(1) ` 4 lakh/yk[k
(2) ` 3 lakh/yk[k
(3) ` 2 lakh/yk[k
(4) ` 1 lakh/yk[k

Q.20 Which of the following
animals have a single
opening in their digestive
system that serves both as a
mouth and an anus?/

fuEufyf•r esa ls fdl tkuoj ds ikpu
ra=k esa ,d gh }kj gksrk gS tks eqag vkSj
xqnk nksuksa dk dke djrk gS\
(1) Arachnids/vjfpUM~l
(2) Echinoderms/bdkbuksMElZ
(3) Platyhelminthes/

IySfFkfYeUFksl
(4) Arthropods/vkFkzkZsiksM~l

Q.21 Which of the following city of
India was a coastal
settlement where ships
unloaded goods from distant
lands between 2200 and 1900

years ago?/2200 vkSj 1900 lky
igys Hkkjr ds fuEufyf•r esa ls dkSu lk
'kgj ,d rVh; cLrh Fkk tgk¡ tgkt nwj
ns'kksa ls lkeku mrkjrs Fks\
(1) Karaikal/djkbZdy
(2) Veerampattinam/

ohjeifêðue
(3) Yanam/;ue
(4) Arikamedu/vfjdkesMq

Q.22 Which of the following is soda

lime?/fuEufyf•r esa ls dkSu lk lksMk
ykbe gS
(1) Ca(OH)

2
 + CaO

(2) KOH + CaO
(3) CaCI

2
 + CaO

(4) NaOH + CaO
Q.23 The Centre introduced a new

bill called the Criminal
Procedure (Identification) Bill
2022. This Bill will repeal the
Identification of Prisoners
Act which was established in
_____./dsaæ us vkijkf/d çfØ;k
(igpku) fo/s;d 2022 uked ,d u;k
fo/s;d is'k fd;kA ;g fo/s;d _____

esa LFkkfir dSfn;ksa dh igpku vf/fu;e
dks fujLr dj nsxkA
(1) 1930 (2) 1950
(3) 1945 (4) 1920

Q.24 Where was the first Jute
factory in India established?/

Hkkjr esa twV dk igyk dkj•kuk dgk¡
LFkkfir fd;k x;k Fkk\
(1) Cuttack, Odisha/dVd]

mM+hlk
(2) Ongole, Andhra Pradesh/

vksaxksy] vka/z çns'k
(3) Rishra, West Bengal/fj'kjk]

if'pe caxky
(4) Raigarh, Chhattisgarh/

jk;x<+] NÙkhlx<+
Q.25 In which of the following states

was ‘Kudumbashree,’ women-
oriented, community–based,
poverty-reduction programme

implemented?/fuEufyf•r esa ls
fdl jkT; esa ^dqnqEcJh* efgyk&mUeq•]
leqnk;&vk/kfjr] xjhch&?kVkus dk dk;ZØe
ykxw fd;k x;k Fkk\
(1) Maharashtra/egkjk"Vª
(2) Kerala/dsjy
(3) Bihar/fcgkj
(4) Uttar Pradesh/mÙkj çns'k

1. 'A @ B' means 'A is the
husband of B'.
'A & B' means 'A is the
mother of B'.
'A # B' means 'B is the
daughter of A'.

'A @ B' dk vFkZ gS 'A, B dk ifr gSA
'A & B' dk vFkZ gS 'A, B dh eka gSA
'A # B' dk vFkZ gS 'B  A' dh csVh gSA
If G # H & I @ J & K, then how

is H related to J?

;fn G # H & I @ J & K, rks H] J
ls fdl çdkj lacaf/r gS\
1. Mother/ek¡
2. Brother/HkkbZ
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3. Sister/cgu
4. Mother-in-law/lklq ek¡

2. Select the correct mirror
image of the given
combination when the
mirror is placed at line 'MN'
as shown.

fn, x, la;kstu dh lgh niZ.k Nfo dk
p;u djsa tc niZ.k dks fn•k, x, vuqlkj
'MN' js•k ij j•k x;k gksA

b j F 8 7 s

M

N
1. 2.

3. 4.

3. Select the set in which the
numbers are related in the
same way as are the
numbers of the following

sets./ml lsV dk p;u djsa ftlesa
la[;k,¡ mlh rjg ls lacaf/r gSaA tSls
fuEufyf•r lsVksa dh la[;k,¡ gSaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g. 13 -
Operations on 13 such as
adding/subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)

(uksV% la[;kvksa dks muds ?kVd vadksa esa
foHkkftr fd, fcuk] iw.kZ la[;kvksa ij lapkyu
fd;k tkuk pkfg,A mnkgj.k ds fy, 13 &
13 ij lapkyu tSls 13 dks tksM+uk@?kVkuk@xq.kk
djuk vkfn fd;k tk ldrk gSA 13 dks 1
vkSj 3 esa rksM+uk vkSj fiQj 1 vkSj 3 ij
xf.krh; lafØ;k,¡ djus dh vuqefr ugha gS)
(40, 120, 400)
(18, 20, 78)
1. (29, 23, 98)
2. (56, 14, 108)
3. (25, 27, 92)
4. (11, 720, 660)

4. Select the figure that will
come next in the following
figure series?

ml vkÑfr dk p;u djsa tks fuEufyf•r
vkÑfr J̀a•yk esa vkxs vk,xh\

     ?

1. 2. 

3. 4. 

5. Select the number from
among the given options that
can replace the question
mark (?) in the following
series.

fn, x, fodYiksa esa ls ml la[;k dk
p;u djsa tks fuEufyf•r J̀a•yk esa ç'u
fpÉ (\) dks çfrLFkkfir dj ldrh gSA
5, 10, 17, 26, 37, 50, ?
1. 58 2. 65
3. 76 4. 54

6. In the following question
below are given some
statements followed by some
conclusions based on those
statements. Taking the
given statements to be true
even if they seem to be at
variance from commonly
known facts. Read all the
conclusions and then decide
which of the given conclusion
logically follows the given
statements.
uhps fn, x, ç'u esa dqN dFku fn, x,
gSa vkSj mu dFkuksa ds vk/kj ij dqN
fu"d"kZ fn, x, gSaA fn, x, dFkuksa dks
lR; ekuuk ??Hkys gh os loZKkr rF;ksa ls
fHkUu çrhr gksrs gksaA lHkh fu"d"kks± dks i<+sa
vkSj fiQj r; djsa fd fn, x, fu"d"kks± esa
ls dkSu lk fu"d"kZ rkfdZd :i ls fn,
x, dFkuksa dk vuqlj.k djrk gSA
Statements/dFku%
I. Some white are car/dqN

liQsn dkj gSaA
II. No truck is car/dksbZ Vªd dkj

ugha gSA
Conclusion:/fu"d"kZ
I. All truck are white/lHkh Vªd

liQsn gSaA
II. Some car are white/dqN

dkj liQsn gSA
1. Only conclusion II follows/

dsoy fu"d"kZ II vuqlj.k djrk gSA
2. Neither conclusion follows/

dksbZ Hkh fu"d"kZ vuqlj.k ugha djrk gSA

3. Only conclusion I follows/
dsoy fu"d"kZ I vuqlj.k djrk gSA

4. Both conclusions I and II
follows/fu"d"kZ I vkSj II nksuksa
vuqlj.k djrs gSaA

7. Select the option that is
related to the third term in
the same way as the second
term is related to the first
term and the sixth term is
related to the fifth term.
ml fodYi dk p;u djsa tks rhljs in
ls mlh rjg lacaf/r gS tSls nwljk in
igys in ls lacaf/r gS vkSj NBk in
ikaposa in ls lacaf/r gSA
24 : 840 :: 27 : ? :: 33 : 1452
1. 756 2. 297
3. 1026 4. 729

8. Four letter-clusters have
been given out of which three
are alike in some manner
and one is different. Select
the one that is different.
pkj o.kZ&lewg fn, x, gSa ftuesa ls rhu
fdlh çdkj ls ,d tSls gSa vkSj ,d fHkUu
gSA og pqusa tks fHkUu gksA
1. MPT 2. FIM
3. GJN 4. DGI

9. In a certain code language,
'ADVANCE' is written as
'VDAAECN' and 'BABYSIT' is
written as 'BABYTIS'. How
will 'AFFABLE' be written in
that language?
,d fuf'pr dwV Hkk"kk esa] 'ADVANCE'

dks 'VDAAECN' vkSj 'BABYSIT'

dks 'BABYTIS' fy•k tkrk gSA ml
Hkk"kk esa 'AFFABLE' dSls fy•k tk,xk\
1. FFAALEB 2. FFAAELB
3. FFAAEBL 4. AAFFELB

10. Select the option figure that
is embedded in the given
figure. (rotation is not
allowed).
ml fodYi vkÑfr dk p;u djsa tks nh xbZ
vkÑfr esa lfUufgr gSA (jksVs'ku dh vuqefr
ugha gS)A

1. 2. 
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3. 4. 

11. Select the option that is
related to the fifth letter-
cluster in the same way as
the second letter-cluster is
related to the first letter-
cluster and the fourth letter-
cluster is related to the third
letter-cluster.
ml fodYi dk p;u djsa tks ikaposa
v{kj&lewg ls mlh çdkj lacaf/r gS tSls
nwljk v{kj&lewg igys v{kj&lewg ls
vkSj pkSFkk v{kj&lewg rhljs v{kj&lewg
ls lacaf/r gSA
BEAR : DFCS :: FEEL : HFGM
:: MANY : ?
1. OBPY 2. OCPZ
3. OBPZ 4. OBQZ

12. Select the option that
represents the correct order
of the given words as they
would appear in an English
dictionary.
ml fodYi dk p;u djsa tks fn, x,
'kCnksa ds lgh Øe dk çfrfuf/Ro djrk
gS tSls os vaxzsth 'kCndks'k esa fn•kbZ nsaxsA
1. Inundate/lSykc
2. Invidious/n~os"kiw.kZ
3. Individual/O;fDrxr
4. Inveterate/buosVjsV
5. Invective/xkyh&xykSt
6. Invincible/vts;
7. Inviolable/vya?kuh;
1. 1, 5, 4, 2, 3, 6, 7
2. 1, 5, 3, 4, 2, 6, 7
3. 3, 1, 5, 4, 2, 6, 7
4. 3, 1, 5, 4, 6, 2, 7

13. If A + B means that A is the
brother of B, A × B means that
A is the sister of B, A ÷ B means
that A is the father of B then
which of the following
expression shows that P is the
sister of R?
;fn A + B dk vFkZ gS fd A] B dk HkkbZ
gS] A × B dk vFkZ gS fd A] B dh cgu
gS] A ÷ B dk vFkZ gS fd A] B dk firk
gS] rks fuEufyf•r esa ls dkSu lk O;atd
n'kkZrk gS fd P] R dh cgu gS\
1. P × Q + R 2. P + Q × R
3. P × Q ÷ R 4. P × Q + R

14. Which letter cluster will
replace the question mark (?)
to complete the given series?
nh xbZ Jà•yk dks iwjk djus ds fy, ç'u
fpUg (\) ds LFkku ij dkSu lk v{kj
lewg vk,xk\

NAME, NEME, ?, NOME,
NUME
1. NMME 2. NKME
3. NIME 4. NJME

15. Which figure should replace
the quesion mark (?). If the
series were be continued?
ç'u fpÉ (\) ds LFkku ij dkSu&lh
vkÑfr vkuh pkfg,A ;fn J̀a•yk dks
tkjh j•k tkrk gS\

    

1. 

P 

Z A 

SO

C

=
2. 

P 

Z A 

O

C

=

3. 
A 

C O 

P Z

=

4. 
A 

C O 

P Z

=

16. Select the correct
combination of mathematical
signs to sequentially replace
the * signs and balance the

given equation./fn, x, lehdj.k
dks larqfyr djus ds fy, * fpUgksa dks
Øfed :i ls cnyus ds fy, xf.krh;
fpÉksa ds lgh la;kstu dk p;u djsaA
35 * 5 * 7 * 2 * 19 = 42
1. ×, ÷, -, + 2. ÷, ×, +, +
3. +, -, +, - 4. ÷, ×, -, -

17. A paper is folded and cut as
shown below. How will it appear
when unfolded?

uhps fn•k, vuqlkj ,d dkxt dks eksM+k
vkSj dkVk tkrk gSA vuiQksYM gksus ij ;g
dSlk fn•kbZ nsxk\

1. 2.

3. 4.

18. Select the set in which the
numbers are related in the
same way as are the
numbers of the following set.
ml lsV dk p;u djsa ftlesa la[;k,¡ mlh
rjg ls lacaf/r gSa tSls fuEufyf•r lsV
dh la[;k,¡ gSaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking

down the numbers into its
constituent digits. E.g., 13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is NOT
allowed).
(uksV%& la[;kvksa dks muds ?kVd vadksa esa
foHkkftr fd, fcuk] iw.kZ la[;kvksa ij
lapkyu fd;k tkuk pkfg,A mnkgj.k ds
fy,] 13 & 13 ij lapkyu tSls 13 dks
tksM+uk @ ?kVkuk @ xq.kk djuk vkfn fd;k
tk ldrk gSA 13 dks 1 esa rksM+uk vkSj 3
vkSj fiQj 1 vkSj 3 ij xf.krh; lafØ;k,¡
djus dh vuqefr ugha gSA)
(16, 7, 37)
(28, 9, 55)
1. (19, 6, 36) 2. (13, 4, 25)
3. (20, 7, 45) 4. (23, 8, 48)

19. Read the given statement(s)
and conclusions carefully.
Assuming that the
information given in the
statements is true, even if it
appears to be at variance
with commonly known facts,
decide which of the given
conclusions logically follow(s)
from the statement(s).

fn, x, dFkuksa vkSj fu"d"kks± dks è;kuiwoZd
i<+saA ;g ekurs gq, fd dFkuksa esa nh xbZ
tkudkjh lR; gS] Hkys gh ;g lkekU;
:i ls Kkr rF;ksa ls fHkUu çrhr gksrh gks]
r; djsa fd fn, x, fu"d"kks± esa ls dkSu
lk dFku(uksa) dk rkfdZd :i ls vuqlj.k
djrk gSA
Statements/dFku
Some stones are cubes/dqN
iRFkj ?ku gSaA
No cube is a glass/dksbZ ?ku fxykl
ugha gSA
All bats are cubes/lHkh cSV D;wc gSaA
Conclusions/fu"d"kZ
I. Some stones being bats is

a possibility/dqN LVksu ds cSV
gksus dh laHkkouk gSA

II. No bat is a glass/dksbZ cSV
fxykl ugha gSA

III.  All cubes are bats/lHkh D;wc
cSV gSaA

IV. No stone is a glass/dksbZ LVksu
Xykl ugha gSA



K
D
 P

u
bl

ic
at

io
n

KD Publication43 CGL TIER-I-2022 | 01/12/2022 | 5:15pm

1. Only Conclusions I, II and

IV follow/dsoy fu"d"kZ I] II

vkSj IV vuqlj.k djrs gSaA
2. Only Conclusions II and

III follow/dsoy fu"d"kZ II vkSj
III vuqlj.k djrs gSaA

3. Only Conclusions I and II

follow/ dsoy fu"d"kZ I vkSj II
vuqlj.k djrs gSaA

4. Only Conclusion I follows/

dsoy fu"d"kZ I vuqlj.k djrk gSA
20. Select the option that is

related to the fifth letter-
cluster in the same way as
the second letter-cluster is
related to the first letter-
cluster and the fourth letter-
cluster is related to the third
letter-cluster./ml fodYi dk
p;u djsa tks ikaposa v{kj&lewg ls mlh
çdkj lacaf/r gS tSls nwljk v{kj&lewg
igys v{kj&lewg ls vkSj pkSFkk v{kj&lewg
rhljs v{kj&lewg ls lacaf/r gSA
LAMB : DPEQ :: MOTH : JWSR
:: NERD : ?
1. FVJS 2. FUJS
3. FVIS 4. FUIS

21. In a certain code language,
'FUEL' is coded as '50' and
'JEER' is coded as '44'. How
will 'FARE' be coded in that

language?/,d fuf'pr dksM Hkk"kk
esa] 'FUEL' dks '50' ds :i esa dksfMr
fd;k tkrk gS vkSj 'JEER' dks '44' ds
:i esa dksfMr fd;k tkrk gSA ml Hkk"kk
esa 'FARE' dks fdl çdkj dksfMr fd;k
tk,xk\
1. 38 2. 34
3. 40 4. 36

22. Which of the following
interchanges of numbers and
mathematical signs would
make the given equation

correct?/la[;kvksa vkSj xf.krh; fpUgksa
ds fuEufyf•r esa ls dkSu lk vknku&çnku
fn, x, lehdj.k dks lgh djsxk\
729 × 81 ÷ 20 + 16 – 6 = 50
1. 6 and 20, × and ÷
2. 20 and 50, + and –
3. 16 and 50, × and +
4. 16 and 20, + and ÷

23. A series is given with one
term missing. Select the
correct alternative from the
given ones that will complete

the series./,d vuqØe fn;k x;k gS
ftlesa ,d in yqIr gSA fn, x, fodYiksa

esa ls og lgh fodYi pqfu, tks J̀a•yk
dks iwjk djsA
RTM, VZX, ZFI, DLT, ?
1. HRE 2. RST
3. TMO 4. HRS

24. Select the odd group of
numbers.
la[;kvksa ds fo"ke lewg dk p;u djsaA
(NOTE: Operations should be
performed on the whole
numbers, without breaking
down the numbers into its
constituent digits. E.g.13 -
Operations on 13 such as
adding /subtracting /
multiplying etc. to 13 can be
performed. Breaking down 13
into 1 and 3 and then
performing mathematical
operations on 1 and 3 is not
allowed)/(uksV% la[;kvksa dks muds
?kVd vadksa esa foHkkftr fd, fcuk] iw.kZ
la[;kvksa ij lafØ;k,¡ dh tkuh pkfg,A
mnkgj.k 13 & 13 ij lafØ;k,¡ tSls 13
esa tksM+uk@?kVkuk@xq.kk djuk vkfn
fu"ikfnr dh tk ldrh gSaA 13 dks 1 vkSj
3 esa foHkkftr djuk vkSj fiQj 1 vkSj 3
ij xf.krh; lafØ;k,¡ djus dh vuqefr
ugha gS)
1. (15 - 220 - 215)
2. (10 - 100 - 95)
3. (20 - 400 - 395)
4. (25 - 625 - 620)

25. By interchanging the given
two signs and numbers which
of the following equation will
be not correct?

fn, x, nks fpÉksa vkSj la[;kvksa dks vkil
esa cnyus ij fuEufyf•r esa ls dkSu&lk
lehdj.k lgh ugha gksxk\
× and -, 8 and 4
I. 4 + 3 × 8 - 2 ÷ 1 = 3
II. 8 × 2 – 4 + 6 ÷ 2 = 11
1. Both I and II
2. Only II
3. Neither I nor II
4. Only I

Q.1 Rearrange the parts of the
sentence in correct order.
We have been
P. able to identify certain

patterns in
Q. the microbiome and

immune response
R. that are clearly linked to

the progression and
S. severity of brain injury

(1) PQSR (2) QPSR
(3) RSPQ (4) PQRS

Q.2 Parts of the following
sentence have been
underlined and given as
options. Select the option
that contains an error.
Has Gita any previous
knowledge of work with
junior colleagues?
(1) with (2) Has
(3) any (4) work

Q.3 Select the INCORRECTLY
spelt word.
(1) Cemetery
(2) Accommodate
(3) Intruder
(4) Neccessary

Q.4 Select the most appropriate
option to fill in the blank.
The monster trucks have
very _______ engines, they
can probably pull a train
coach without any problem.
(1) dominant (2) forceful
(3) impressive(4) powerful

Q.5 Select the sentences that
contains no spelling errors.
(1) Our government has

launched a relatively
extensive set of reforms
for aborgines in the
country.

(2) Our government has
launched a relatively
extensive set of reforms
for aborigines in the
country.

(3) Our government has
launched a relatively
extensive set of reforms
for aboregynes in the
country.

(4) Our government has
launched a relatively
extensive set of reforms
for aborigynes in the
country.

Q.6 Select the most appropriate
option to fill in the blank.
The contingent managed to
___________ successfully.
(1) park the deal
(2) close the deal
(3) heal the deal
(4) catch the deal

Q.7 Select the most appropriate
synonym of the bracketed
word to fill in the blank.
For Rahul, everything was a
_________ (modern)
experience until he stepped
onto the field.
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(1) new (2) flashy
(3) global (4) Asiatic

Q.8 The following sentence has
been split into four
segments. Identify the
segment that contains a
grammatical error.
Rehan and Ronit are / good
friends and / it don’t matter
to them / as to who is
wealthier.
(1) good friends and
(2) it don’t matter to them
(3) Rehan and Ronit are
(4) as to who is wealthier.

Q.9 Select the most appropriate
synonym of the given word.
Moral
(1) Ethical
(2) Honourable
(3) Godliness
(4) Symphony

Q.10 Choose the correct meaning
of the given idiom.
A skeleton in the cupboard
(1) A popular fact which is not

hidden
(2) A popular fact to be kept

secret
(3) An embarrassing fact not

to be kept secret
(4) An embarrassing fact to

be kept secret
Q.11 Rearrange the parts of the

sentence in correct order.
The rattlesnake
P. it has specialized

Jacobson’s
Q. organs, which gives it a

heightened
R. knows when to lie low

because
S. sense of smell to detect

prey
(1) RPQS (2) SPRQ
(3) QSPR (4) QPRS

Q.12 Choose the most appropriate
meaning of the underlined
word in the given sentence.
Even though Margaret had
already eaten a large meal,
she could not resist eating two
slices of the delectable pie.
(1) Stale (2) Delicious
(3) Nutritious (4) Rotten

Q.13 Select the correct indirect
form of the given sentence.
She said to me, “The
charlatan will be breaking
into the safe.”
(1) She told me that the

charlatan would be
breaking into the safe.

(2) She said to me that the
charlatan will be
breaking in the safe.

(3) She said to me that the
charlatan can be breaking
into the safe.

(4) She said to me that the
charlatan is breaking
into the safe.

Q.14 Select the most appropriate
meaning of the given idiom.
Fly into a passion
(1) To be aggressive at times
(2) To become aggressive

often
(3) To become angry suddenly
(4) To be always angry

Q.15 Select the correct passive
form of the given sentence.
Shalu has ordered new
copies of the album.
(1) New copies of the album

have being ordered by
Shalu.

(2) New copies of the album
has been ordered by Shalu.

(3) New copies of the album
has been order by Shalu.

(4) New copies of the album
have been ordered by
Shalu.

Q.16 Select the most appropriate
ANTONYM of the
underlined word in the
given sentence.
God has clearly blessed
human beings for his glory.
(1) Appointed (2) Produced
(3) Applied (4) Cursed

Q.17 Select the option that can
be used as a one-word
substitute for the given
group of words.
A person in love with
himself
(1) Narcissist (2) Lunatic
(3) Stoic (4) Polyglot

Q.18 Select the correct passive
form of the given sentence.
He has downloaded the
movie on his phone.
(1) The movie has been

downloaded by him on his
phone.

(2) The movie was downloaded
by him on his phone.

(3) The movie is been
downloaded by him on his
phone.

(4) The movie are being
downloaded by him on his
phone.

Q.19 Select the option that can
be used as a one-word
substitute for the given
group of words.
Giving the worrying
impression that something
bad is going to happen
(1) Desolate
(2) Suspicious
(3) Ominous
(4) Bleak

Q.20 Select the most appropriate
option that can substitute
the underlined segment in
the given sentence.
The new shop that opened
last week are hardly
sufficient stock of the
products that it advertised
about.
(1) hardly hadn’t
(2) hardly had
(3) hardly is having
(4) is had

Comprehension: In the following
passage, some words have been
deleted. Read the passage carefully
and select the most appropriate
option to fill in each blank.
The Romans had developed a
(1)____ for chariot racing. The
(2)_____ of the game are so excited
that sometimes it may (3)____ into
chaos, confusion and riots. The
(4)_____ in which racing took place
was called a circus. The (5)____ one
was the Circus Maximus in Rome,
that could hold up to 3,85,000
spectators, which shows the
popularity of the sport
Q.21 Select the most appropriate

option to fill in blank no. 1.
(1) taste (2) spoonful
(3) drop (4) mouthful

Q.22 Select the most appropriate
option to fill in blank no. 2.
(1) campaigners
(2) reformers
(3) champions
(4) supporters

Q.23 Select the most appropriate
option to fill in blank no. 3.
(1) adapt (2) reshape
(3) transfigure(4) convert

Q.24 Select the most appropriate
option to fill in blank no. 4.
(1) stadium (2) circuit
(3) route (4) track

Q.25 Select the most appropriate
option to fill in blank no. 5.
(1) larger (2) highest

(3) largest (4) higher


